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Arithmetic Sequences
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Find the sum of the first 10 terms of the arithmetic series with first term 4 and
common difference 3 =4
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Geometric Sequences
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Sum to infinity

Example

Find the sum to infinity of the geometric series with common ratio Z and first
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Sequence and Series Properties

Increasing Sequence
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Example

A sequence is arithmetic with 2nd term 7 and 10th term 31. Find the sum of
the first 100 terms.

a+9 =17 >,

gf}“;l{{
A=2  Da<b

Sr = 122 2k (293

A -

= [§250

()
AL‘ ; https://www.buymeacoffee.com/DrBennison



Example

A sequence is defined by.u, | = pu, + g where p and g are constants.
The first three terms of the sequence are given by u; = 200, u, = 100 and
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